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1. BNIrpaEsE

from tinyddp.client import DDPClient, Collection, Subscription

# 169.254.1.254 90 f8ipaddr, 78019PMI-5201tEEARIKOS

# HFEPMIEEIBANRIENIS (AL, A6 BIXIAIRS[7801, 7806]

# HFEPMIELIBAIENIS [B7, B8] AIXIAMIRS[7807, 7808]

duts_port = "ws://169.254.1.254:7801"

client = DDPClient(duts_port)

pmi5201 = client.get_proxy('PMI-5201') # 'PMI-5201'ArpcimiEf@AsLHltIdse

2. APIiEH
pmi5201.enable output (1000, 1000)
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AR ETAPIZIZR B4 API_List/pmi-5201.html

AR
REFEOSEHPHN "=" HEME, FERAMapilIEHRSEEISHE;
LU NTUEREL -
YRR EEEN
measure(bandwidth_hz, harmonic_num, decimation_type=0xFF)
JEARREEEO:
measure (2000, 5)

1. ZREVERIHRRAS

get_driver_version():

Returns:
string, current driver version.
Examples:
pmi5201.get_driver_version()

2. B EIMEKRAZINRE

enable_output(freq, rms):

Args:
freq:
int, freqZ¥uiMHIESXRINER, BUESEE A [5~50000], B /9Hz;
rms :
float, rmsSEABMHIEBZRANISRE, BUEEEH[0~2300], B AnVrms;
Returns:
string, "done", execution successful.
Examples:

pmi5201.enable output(1000, 1000)

3. WESMNESIRE;

measure(bandwidth_hz, harmonic_num, decimation_type=0xFF):

Args:
bandwidth_hz:
int/string, bandwidth hzSEUh(EE%5, BUESBEI[24~95977], BfIJHz;
harmonic_num:
int, harmonic_numB#AEIEiRAES, BUESEE N[ 2-10];
decimation_type:
int, decimation_typeS¥/utitfE T, B ITEELFRIFR, BUEEEI[1~255]
Returns:
measurement result:
dict, {"vpp":value, "freq":value, "thd":value, "thdn":value,
"rms" :value}
Examples:
result = pmi5201.measure(20000, 5)
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print(result)
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P2 (FRBNCL, kB IEZIRSIE req=1000Hz IEIE{Evpp=1000mV;

it : pmi5201.enable output (1000, 1000)
BI%58R : done
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ME: pmi5201.measure (20000, 5)
JREIER: [vpp=2836.3701661519426, freq=599.9971120686696, thd=-83.82202482727281,
thdn=-79.30340015827456, rms=1002.8082892206265]

PO. Nysa_toolkit{sEFEAR

Nysa_toolkitZNysajllil FRRHAWAERSEERETER, HIZ T Debug panellige, mILUBIUISAERZ
SRR EHERINENHThEE, THEIYMNER LA rpcHA.

UITHREfE AR

FJFFNysa_toolkit L4, REHFE_EAIPMI-520 EHAANUIEIXFRE
—. BHEEESYRARAEN B
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(5] Nysa-toolkit = O =

PMI-5201 S5astr{¥

Lh=ge MEEER

B EINEESEEENT:

HHITER (freq) . BAINMEN1000Hz, SEE/I[10~50000]

AR (rms) . ERIAE1000mVrms, SEEISI[0~2300]
flan:

HH—MREA1000Hz, 5 IR(EA1000mVrmsIIIESZIR, Mt 7z, BIRHH SIS
K.

(5] Nysa-toolkit = O =
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@ Nysa-toolkit = O =
bk

PMI-5201 &aas4m{d

e ==l

NESNEESHEBUT :

%%—m,u(bandmdth_hz) : BRANE/920000HZ , SEEI /I [ [ 24~95977]

RIEIREEZ (harmonic_num) : BAIAME5, SEEI/I[2~10]

SKEEEF (decimation_type) : BRIAE 9255
IR

HNEBESIMA—MRERN1000Hz, 1751R(E/N1000mVrmsAIIESKIN, R NE"i&H, BIaEE!
BINIESZRAINE(E.

(5] Nysa-toolkit = O =

PMI-5201 SE3ss ¥
=] plE==p=

vpp : 2829.272786063493
freq : 999.9959106455354
thd : -83.27516433361141
thdn : -79.44563088558161

rms : 1000.2989864260261

8/8



